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INSTRUCTIONS

Answer all questions.
All questions carry equal marks.
Only one answer is to be given for each question.
If more than one answers are marked, it would
be treated as wrong answer.
Each question has four alternative responscs
marked serially as 1, 2, 3, 4. You have to darken
only one circle or bubble indicating the correct
answer on the Answer Sheet using BLUE BALL
POINT PEN.
1/3 part of the mark(s) of each question will
be deducted for each wrong answer. (A wrong
answer means an incorrect answer or more than
one answers for any-question. Leaving all the
relevant circles or bubbles of any question blank
will not be considered as wrong answer.)

The candidatc should ensure that Scrics Code of

the Question Paper Booklet and Answer Sheet

must be same after opening the envelopes. In
case they are different, a candidale must obiain
another Question Paper of the same serics.

Candidate himself shafl be responsible for

cnsuring this.

Mobile Phone or any other electronic gadget in

the examination hall is strictly prohibited. A

candidate found with any of such objectionable

material with himv/her will be strictly dealt as per
rules,

Please correeily fill your Roll Number in O.MR.

Sheet. 5 marks will be deducted for filling wrong

or incomplete Roll Number.

Warning : 1f a candidale is found copying or if
any unauthorised material is found in
his/her possession, FIR. would be
lodged against him‘her in the Police
Station and he/she would liable to be
prosecuted vnder Scction 3 of the
R.PE. (Prevention of Unfairmeans)
AEt, 1992, Commission may also
debar him/her permanently from alt
future examinations of the
Commissiof.
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1 Pangaea is the name of a former continent that included :
(1) all the continents
(2) only Europe and Asia
(3) only South America and Africa
(4) only North and South America

e s qdwedl  wfefwa &
(1) it =R

(2) b 79 T wfiren

(3) Tk <fivr omifter e ekl
@) b s qw sfeor el

2 Valleys formed by glaciers always have which of the following characteristics?

(1) U-shaped cross sections (2) straight courses

(3) uniform slopes (4) bedrock floors

fre A 4 @ @ efiwem Ree g g9 il § e wRn S ¥ 7
(1) U - o & s (2) = uy

(3) TE WAH Bl (4) onagE T@

3 The core of the earth is thought to be composed of which of the following

(1) basalt and granite (2) compressed gases
(3) uranium and lead (4) iron and nickel
q-wrs e o ¥ Read s gom A S %7

() Ew od ITEE B (2) wdifT A& g
() FFrm wd 99 3| (4) e & Fea s

4 Which of the following distances in kilometers is closest to the diameter
of the earth ?

(1) 750 kilometers | - (2) 2,750 kilometers
{3) 12,750 kilometers 4) 127,500 kilometers
Pt o @ @ @ g gl & =g F Freveew 37

(1) 750 fRL (2) 2,750 R

(3) 12,750 fep.H. (4) 127,500 fes .
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5  The Mohorovicic Discontinuity, commonly called the Moho, is the boundary
between the '

(1) the mantle and the crust
(2) asthenosphere and the mantle
(3) mantle and the outer core

(4) outer core and the inner core

qE F T A wF T e Aefifie owee e ¥ wer W@l
der ¥ 7

(1) wER @& 9uer

(2) FEeWI — HUsE T WA

() AR Td e Y - B

(@) ™ Y — FS W HAG® q — BS

6  The oxygen in the earth's atmosphere was probably produced by which
of the following ?

(1) volcanos (2) photosynthetic organisms
(3) radioactive minerals {4) meteors

yefl % argriew ¥ offrdiom w @wilRm @ fra ¥ e oar ?
(1) S=EEE @ v gyad Sl

(3) et wered (4) Swsl s

7 According to the protoplanet hypothesis, the solar system begins as which
of the following ?

(1) a star
(Z) a vacuum
(3) a huge cloud of dust and gas

(4) a group of comets

FreE aREme & IER URdsw @ yrew B ¥ ¥ Ry weR 9
got oF ? :

(1) Ts /e

) U FaEE

() T W w AW H UH T 9Ed

4) TE ey W
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Continents have three major features. The oldest areas of each continent
are the :

(1) folded mountains (2) stable platforms

{3) mountain cores (4) shields

TEgt & 9N gET Ue® B ¢, Wl % UENod WRT Bl HEd o
(1) =i T (2) W I

() T B @) =

Which of the following names is given to the supercontinent thought to
have existed in the Cambrian period ?

(1) Pangaea (2) Afrasia

(3) Gondwanaland (4) Europia

o5 goX TeiEe e efea FRem wew F W owen ¥, s@ fe A
¥ BE- AW R o ¥

(1) o (2) SThRE

(3) TsaFRTS @ FUiEn

In the nebular hypothesis, each planet is formed from which of the
following?

(1) a comet (2) a number of moons
(3) a passing star {4) a ring of gas
Preler wReven ¥ ogER vde g Frer F @ feew @ 7
(1) & g (2) @ dEwel

G) w7 ¥ ERd dR H 4 Yo F TH TEgd

The earth's average density is :

(1) 2.82 grams per cubic centimeter
(2) 4.75 grams per cubic centimeter
(3) 5.52 grams per cubic centimeter
(4) 10.5 grams per cubic centimeter

gedt @ offdq = ¥ -

(1) 2.82 9 gy T FTRY
@) 4.75 7 wk = EHRT
(3) 5.52 W ¥ @ WM
@) 105 wM W = R
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12 The curved body of water formed when a meandering river reshapes and

13

14

135

cuts off one of its bends is called :
(1) an Essing pond (2) an Oxbow lake
(3) a Swensen pool (4) a Groovy pool

fEd T T o RR we W & w@ew o 9ot wd el feg
A Y TN WE AR B TAURT Bl HET & ?

() U wdiT o Q) u& olwE o

() & T=T G (@) w A T

The tectonic plates on which India and the adjacent portion of Asia ride
are colliding at a rate of :

(1) 1-10 millimeters per year

{2) 1-10 centimeters per year

(3) 1-10 meters per year

(4) 1-10 decimeters per year

@ Rredter RwE B9 w IR wd Proeeadt oimr - ol e ¥,
frg oy ¥ emwm ¥ THu A F?

(1) 1-10 Frefrler wiqad

(2) 1-10 ¥ofrex wivad

(3) 1-10 Hrex giaad

4) 1-10 =it ghoad

Deposits that form when the ice in a glacier melis are called:

(1) drifts (2) dunes
(3) venis (4) cirques
o & 9% & e § @ Few weaa #7
(1) omdE frEm @ fesm
@)y B (4) wh

What is the name given to a region where one plate of the earth's crust
is sliding under another ?

(1) Subduction zone (2) Convection zone
(3) Collision zone (4) Transform fault

% & Sl gl @ il B e ufim o wie & A W@ W,
T HEA T 7

(1) UESHRE §&X (2) Hgsd g@WX

(3) dHug g} (4) ciEwE 9y
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16 We know that the earth's QUTER core is liquid because :
(1) P waves pass through it

(2) S waves pass through it

(3) P waves cannot pass through it

(4) S waves cannot pass through it

w owid ¢ 6 g o el W oxg ¥ S ¥ ;e -
(1) P 3@ A ¥ TE RS

) ST 3@ F ¥ ER IR R

G) Padi g@ ¥ ¥ W X U ¥

(@ Sad g ¥ ¥ T8 e U ¥

17 Which of the following is the name of the partly melted rock layer on
which the tectonic plates move ?

(1) lithosphere (2) asthenosphere

(3) hydrosphere (4) outer core

ofifdter w0 ¥ Rt 3T S TwR o o AW ¥ R o Rt sl
nfd @l ¥?

(1) wWa — wsd (2) 3d@ — AUEd

(3) < - Tusd (4) g wE

18 A volcano which is composed of lava flows and pyroclastic matérial and
which is steep-sided and very tall is known as :

(1) Syncline (2) Composite cone

(3) Anticline (4) None of these

T Sl B S AW U9 SaadsIydl el ot S 8 S W\
Tyl wd wgd Sar @, 3¢ few IW ¥ wwn e €7

(1) afyEta ) T sig
(3) R (4) T K ¥ Wy A
19  Which of the following energy sources does NOT originally.come from
the Sun ? _
(1) Wind energy ' (2) Ocean thermal energy
(3) Geothermal energy (4) Hydroelectric energy
SNl B B W S AW ' A g q e ofn 7
(1) g S () "yx — aE Sl
(3) ol S (4) weREE Sl
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What percentage of the earth's atmosphere does O, comprise ?

(1) 75% 2) 50%
(3) 21% 4 32%
yelt % argeed § O, feaw whiew ek %7
1) 75% () 50%
G) 21% “4) 32%

What gas makes up the majority of our atmosphere ?

(1) Oxygen (2) Carbon dioxide
(3) Ozone (4) DNitrogen

Ty agrEd ¥ geifue A1 A HE WO ¥

(1) ST (2) HET SRS
(3) el (@) RS

In geological studies, all of the following are TRUE of P waves except
that they :

(1) are body waves (2) travel like sound waves

(3) can pass through liquids (4) are slower than S waves
wﬁaawﬁ,ﬁwaﬁm&anﬁ%?ﬂW%%ﬂwsﬂ%ﬁﬁ%
(1) @ T3 @) @ft atr & SN awd ¥
() @a ¥ ¥ PO AW B @ S ati ¥ 9 T B

A circular cavity ground out of bedrock by running water is called a :
(1) cave (2) pot hole

(3) sink hole (4) kettle hole
aﬁgﬁﬂﬁmaﬂw—ﬁaﬁwwmzﬁmﬁm%?
1) e (2) -

(3) W@y (4) TEm-faemt

What percentage of the earth's water is fresh water ?

(1) 50% (2) 22%
(G) % @ 3%
gt % oW @l RRoT TR S S ¥ ?
(1) 50% (2) 22%
G3) 7% @) 3%

-1
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Which of the following is TRUE of an earthquake's epicenter and focus?
(1) they are the same

(2) the focus is above the epicenter

(3) the epicenter is at the earth's surface

(4) the focus is at the earth's inner core

qHY F AUhS Td STWER & 9 B § ¥ R owd g7
() T[T W AT

(2) TIHR AEE b HU SET ©

(3) erftbs Y=t & gag WX ol ®

) STEE= gEl @ oHaRE we W ol ¥

Most earthquakes originate at depths between
(1) the surface and 100 kilometers

(2) 100 kilometers and 500 kilometers

(3) 500 kilometers and 700 kilometers

(4) 700 kilometers and the outer core

JTRIBIST HT HT ST Tt TeNEAl & 9 BT B0
(1) =we 9@ 100 T, .

(2) 100 f6. . T 500 fRAT

(3) 500 f6. . qem 700 TR

4 700 f5. T qET W= mrE

Waves generated by underwater earthquakes are called :

(1) tsunamis (2) a bore

(3) a tidal wave (4) microwave
slaetelld by wivE GO &l R/ &ed $ 7

(1) g 2 ¥R

(3) w=E 9 @) g

On a topographic map, lines that connect points of the same elevation are
termed :

(1 benchmarks (2) bathymetric lines

(3) contour lines (4) 1isobars

T WD AW ¥ M HEE hl SieY e YEr B a w87
(1) Tk @) SFTHR XEn

(3) wHre @ (4) \FEE Yl

OP12_A] B [AERIII tConed...



29

30

31

32

Of the following, the colour blue on a topographic map indicates what
surface feature 7

(1) vegetation (2) water

(3) mountain (4) rock formations

T WG aFRe A W O e ¥ @ few awd wewr @ sl ¥2
1) werfy | () ™

(3) uEE (4) & "dER

Which of the following terms is used to describe the angular difference
between TRUE north and magnetic north on a topographic map ?

(1) Magnetic field (2) Magnetic intensity

(3) Magnetic inclination (4) Magnetic declination

@ OGP WHRE ¥ arafye qur geEwe X R § sl sy
B T BEA B 7

(1) o & (2) g e
(@) TEHE gaE @ g Reaa

In geological studies, a fault in the earth's surface in which the hanging
wall has moved UP relative to the footwall is termed :

{1) overthrust fault (2) reverse fault

(3) tear fault (4) none of these

et sremae A, gl B was 9X 9 I U B F1 AW ¢ g S0l
e enur fufy & gem # IR faww ® W7

(1) orusd a1 _ (2) SR "

(3) e da (¢4) S ¥ ¥ wis

In geological studies, a fault in the earth's surface along which primarily
horizontal movement has taken place is termed :

(1) overthrust fault (2) strike-slip fault

(3) reverse fault (4) none of the above

it ereme W, gedl A wde F IW 99 F Fw aw ¥ e gerd i
T B E7

(1) aifad “dst (2) o w9t
(3) SohH W (4) SWREd ¥ 9 By T
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In studies of the surface of the earth, a reverse fault having a dip between
10 and 45 degrees is known as a :

(1) thrust fault (2) normal fault

(3) strike-slip fault (4) none of these

gedl Y GaE % rema W, S99 Sobd W Bl ® T s ¢ e iy
@ 10 91 45 ’W F wmm @

(1) &9 Y9 (2) wEF 499
(3) ~faera qdor sier (4) S ¥ q DE T8

What is the name for an erosion surface that separates two sets of
sedimentary layers with non-parallel bedding planes ?

(1) Cross bedding (2) Graded bedding

(3) Fault (4) Angular unconformity

I SULET GAE DI 9U1 bed ¢ Wl 56 A6 W I OAERI el Bi Sl
BT ¥ Y SRR 99 SMETaR el 87

(1) v e (2) i W

(3) @ (4) g FWL

Which of the following could be used to tell if a rock layer is right side
up or up side down ?

(1) Graded bedding (2) Faults

{3) Lineations (4) None of above

Pt & ¥ Trmer swar 98 e & fu Ren s og@ean @ fF @
wa W ¥ A IAe W P

(1) hhe G (2) 9

(3) Yas—sr (4) SWRFg ¥ § BE Tl
Principle of superposition states that in an undeformed sedimentary
sequence a bed is  than the bed above and __ than the bed
below : -

(1) younger, younger . (2) younger, older

(3) older, younger (4) older, older

el % Rygra % oUR UF AeNT AgURl oghd § UH WER
SHE S AW & d ae A T wwR 9 Bl ¥

(1) 1. =49 (2) ==, g
(3) YIFN, T (4) 9O, gl

OF12_Al 10 [INIRGR (Coned-..
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A fold with parallel arrangement of limbs is :

(1) isoclinal fold (2) inverted fold
(3) symmetrical fold (4) parallel fold
T Te R T Bed ¢ ed IF wue () TR B R0
(1) NEEEETE (2) et W
(3) wHfE T 4) WA aE

A fold which is convex upwards and have younger rocks in its core is:
(1) Antiform (2) Synform
(3) Anticlinorium (4) Anticline

VY IO B T FEd & A HUT B qE SO o Al fus wre 7wl
s w7

(1) ok & () ofva w9
(3) AN (4) o

Folds having sharp hinges and smooth limbs are called

(1) Concentric (2) Cuspate

(3) Chevron (4) Conica

T a0 B T wEd ¢ e few diwn @ qun wew/fee R w?
(1) wH= () swEdr

(3) UEWRIT (4) siwd

The intersection of contour lines with bedding planes indicate the presence
of :

(1) Horizontal beds _ (2) Inclined beds

(3) Unconformity (45 Graded beds

T Y@l BRT G ani ol aieed Reeel suRafy gvRm ¥ 7
(1) MHoSg ¥wX (2) oFd HwY

(3) Fremfaaien (@) HHH TR
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A clinometer compass is used to measure :
(1) Strike direction

(2) Strike and dip direction

(3) Strike, dip direction and dip amount
(4) None of above

o] B &1 SHANT Fl I 5 R fem wmar §7
(1) orgest R

(2) FAfuee wd =R fan

(3) fa ww, wha fon wg Wl A

(4) SOOw ¥ ¥ B T

Dip of a bed measured perpendicular to strike direction is called :

(1) Normal dip (2) False dip

(3) True dip (4) Apparent dip

frdl dwX % orgeed Ram ¥ wE W AW MY HIOT B FAT bed o7
(1) @ A @ e AR

(3) oIS AR 4) omwEr A

True dip is always more than :

(1) Normal dip (2) False dip

(3) Apparent dip (4) None of above
arfie i g s aifus S 7

(1) wmra SR (2) them A

(3) s Ak (4) S W ® HE T

Which of the following is not an example of brittle deformation ?

(1) Fold , (2) Joint
(3) Fault (4) Fracture
fm ¥ @ B9 YR e @ See @R T
(1) e (2) dhH

(3) 3 4) Tvs=
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Which of the following processes can lead to the formation of faults ?

(1) Compression (2) Extension

(3) Shearing (4) All the above
fr & @ 5w w8 & BRY 99 T T o7 “
(1) gd=A (2) T

(3) oTEuY 4) ST g9

Hade of fault is the

(1) Angle between fault plane and bedding plane
(2) Angle between fault plane and horizontal plane
(3) Angle between hanging wall and foot wall

(4) Angle between fault plane and vertical plane

Y91 Al I T TAl &7

(1) %9 99 & Fw a0 B B0
) 49 oW T AR waaE w B
3) wah Ry @ enar Bfa @ @
(4) 99 dw T FwlER wHawa B B

Which of the following statements is true for Horst and Graben structures?
(1) They are bound by normal faults on either side

(2) They are non-tectonic in origin

(3) They are formed by differential weathering of basaltic rocks

(4) They are formed under compressive forces

& qar waA deEEel & g Pt ¥ ¥ # W wew a ¥ 7

(1) 3% IA OWE GWFT EY B T

() ¥ qua: JfyEde @y ¥

() s P ddwe ¥ AEd swamT ¥ B ®

(@) T Fmiv dfedE @ BN osEr @

Columnar joints are generally associated with
(1) Contact metamorphic rocks

(2) Sedimentary rocks of aeolin origin

(3) Volcanic rocks

(4) Plutonic rocks

wilr wfy omeaa: feed o S ¥ 7

(1) genl saEta W #

(2) 9ME M F ol A H

() awHEa fW o

4) fyaog o

OP12_Al 13 [IMRWAIAQ) (Coned.-
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49 Which of the following statements is true for slaty cleavage ?
(1) These are closely spaced foliations
(2) These are associated with deformation of rocks
(3) They are generally parallel to the axial planes of folds
(4) All the above

W Reem & fg P F ¥ 29 @ ww T %2
(1) T Feelag = 30 %

2 ¥ 9ot F Rewor F PR A ¥

() A gHFE: Ie & ol T9 & 9urFTaY Oid ®
(4) SUUTE TN

80 Fault with no vertical movement is called

(1) Thrust fault (2) Transform fault
(3) Reverse faults (4) Normal fault

ST il @l @ wEd & R Hwaiwx fqwmew @ g @
(1) &9 ¥ (2) ZFERE °99

(3) Tfme wdT "y (4) W H9

51 The oldest rocks that contain abundant fossils are from :

(1) Precambrian era {2) Paleozoic era

(3) Mesozoic era (4) Cenozoic era

o WE 9 R oygr oW § Sanem e @ Ofed e el ® 7
(1) PSET g4 WETheT (2) YUSIEl wEheT

(3) WETSIEl WETheT (4) TSRl AEHE

52 The longest era was the

(1) Mesozoic .(2) Precambrian

{3) Cenozoic (4) Paleozoic

ey & TWEThTT e @ ?

(1) TeTSiEl HEThed (2) HiEAT g TR
(3) TSl WEThe (4) YIEIET TR

OP12_Al 14 (MM (Contd.
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Fossils are rarely found in such rocks as :

(1) limestone (2) sandstone
(3) shale (4) granite
M YHR & el H angw frem gew ¥

() e (2) SIEHEH
(3) ™ @) R

A distinctive fossil that exists over a relatively large part of earth during
a short time of earth history

(1) TIndex fossil {2) Trace fossil

(3) Universal fossil 4) True fossil

ww fafyemerl o S 9=l F shem ¥ 959 w9 T % T 6y
gl % 9gd 93 YNW § URm Wl ¥ 3§ FHd 87

(1) qa6 e (2) orgr@ S

(3) waR i (4) Ted Sens

In an ocean, the upper layer of water with sufficient light penetration to
support photosynthesis by aquatic plants s known as the :

(1) free zone (2) plant zone
(3) photic zone (4) primary zone

Ay @ ST SUA GaT B F Fed ¢ rEH T qrE gR1 YT Geever
% R srmavas wew wEtg W § uEd uw 7

(1) & 7vsd (2) dy TEw
(3) el HUSH (@) vwate qved

An open-ocean community is called a :

(1) pelagic community (2) benthic community
(3) lentic community (4) lotic community
I TR WHRE W WEd &

(1) SeeRl wgEE @) Frow wEw

(3) WX HEr 4) wfasir weE

OP12_Al 15 RIS (Coned.-



57 What are fossils ?
(1) organisms buried in the recent sediments
(2) organisms which lived in the geological past

(3) remains of organisms lived in the geological past and buried under
the sediments

(4) something dug up

Menew = B F?

(1) ofEg 9 ¥ 39 g S

) i sfew ¥ S W@ S

) il e § Ak @ et ¥ s@dy @ oEEE 7 39 T8
(4) wa B e gg 9y

58 Why ammonites are important for biostratigraphers ?
(1) they are well preserved
(2) they are index fossils
(3) they are extinct group of animals
(4) they are marine animals
FiFEed SiasEREnEl & WY 7eae ¥ i
(1) ¥ B T F UK B ¥
2) T TS A T
() ¥ <Ay @ fagw 9 %
(4 ¥ wgE W ¥

59 Why fossils are useful ?
(1) they are decorative pieces
(2) they occur in Rajasthan
(3) they give many information about the geological past
(4) none of the above
Strengd i SwAril 7
(1) 4% Golae & 9% o1
@) = TR ¥ uE oW ¥
(G) @& grilw ordid & A ¥ ggd W oSl ad ¥
(4) SWE ¥ ¥ BE T
oP12 ) 6 (MR (Con-




60 'What is a Glossopteris ?
(1) Tt is a leaf-fossil of Lower Gondwana
(2) It is an index fossil of Gondwana Supergroup
(3) It is a leaf fossil of Cretaceous
@) 1t is a fossil-wood

TR w3 ?

() u= P wearn & gol SiEsd §
(2) I% viearl YURYY H gOH SER ©
(3) UE HIEHEE B U A ©

(4) 9% UH B SEGIA §

61 What is Physa ?
(1) It is a leaf-fossil
(2) It is a dextrally coiled gastropod
(3) It is a sinistrally coiled gastropod
(4) none of the above
HRGT HT T 0
(1) =% TH ol S §
2) TE s Mvmad Fefrm e ?
(@) TE Th IEEd Feid e ¥
(4) sulEm ¥ ¥ Y T

62 Calymene is a trilobite

(1) with spines (2) without spines

(3) with very large eyes (4) without eyes

SO TF ZEAEEE T

() oy s@ o ¥ (2) NrEd g w8 3 %

G) s gE R AR YT @ e T oem

63  Productus is a

(1) brachiopod (2) lamellibranch
(3) gastropod ' (4) cephalopod
Weged Uk

(1) dFdpreims § (2) wfesia ¥
(3) s ¥ (@) FRibams 3

OF12_4) 7 NANAETNR Consd...
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64 Lamellibranchs are generally
(1) inequilateral and equivalve (2} equilateral and inequivalve

(3) single-valved . (4) of very small size

R E G S T

(1) SEAETE GO 96U B ¥ (2) THEIg 91 SNHUIR B ¥

(3) Uhkh HIE B ® 4) ofd g9 IR & T
65 The age of Hippurites is

(1) Paleaozoic (2) Jurassic

(3) Cretaceous (4 Recent

frquege & oy @

(1) i 2y gk

() et @ T
66 What are Foraminifers 7

(1) nano-organisms (2) macro-organisms

(3) micro-organisms {(4) none of the above

BRIEGT T &2

(1) wegE i @) W@

(3) A =g (@) S H ¥ B Tl
67 Ichnology deals with

(1) trace-fossils (2) plant fossils

(3) micro-fossils (4) body-fossils

TR (SFNEsh) o 999 %

(1) geg Seaned (2) TRY WiEgH

(G) g= SEm (4) wE QA

68 Regular echinoids have
(1) always circular test
(2) occasionally circular test
(3) never circular test
{(4) no test

. Profe ssER A
(1) 99N bR ard ST %
(2) ®HW B MR oA ol €
(3) TR AW HH T Bl ¥
(4) W W9 T Har §

OP12 A} 18 NIMIRNIRA) (Contd...



69 What are Graptolites ?
(1) small organisms

(2) fossils which look as if something is written on the stone

(3) black coloured fossils
(4) none of these

URWge w1 &7
(1) g& =

2) TR R g5 faee § WA SN 9 S

() wWE T F A
(4) I ¥ ¥ B AN

70  Brachial skeleton is found in
(1) lamellibranchs
(3) brachiopods
g b o ¥
(1) wifws o
(3) weuE o

2
“)

2
“)

71  Invertebrate palacontology deals with

(1) all the fossils

(2) only vertebrate animals fossils

(3) only invertebrate animals fossils

(4) Plant fossils

sepEdl Waedie 1 ddy ¥
(1) g ey A

(2) *haw BAGEDH S |
(3) HaW SEEIED! Sy &
(4) ey SAEneH

72  Murex is a
(1) plant fossil
(3) invertebrate animal

BT FT %7
(1) URY S|
(3) oTHIED SEIgH

OP12 A}

19

2
(4)

@
4)

cephalopods
gastropods

e 4
TEE o

vertebrate animal
microorganism

HABDT ST
& — Sl

ITIMATIINR (Contd...



73 Vertical distribution of fossils and geological time-scale are closely related.

It 15 :
(1) not true (2) true
(3) partially true (4) none of the above

sl ¥ wwieR e qw gifs e Gwemn § Free @ g9y
B

(1) =T ¥ Q) %
(3) ol ¥= ¥ (4) I ¥ ¥ HE T8

74  Trilobites are found in :

(1) Precambrian rocks (2) Paleozoic rocks
(3) Mesozoic rocks {4) Cenozoic rocks
Ewged el fea

(1) Ffrem g e A (2) YN S| o
(3) weedl S o (4) e Al A

75 Belemnites belong to which of the following ?

(1) Nautiloda (2) Ammonoidea

(3) Dibranchiate (4) None of the above
IeEes e ¥ @ fee 9 b 32

(1) e . () R

(3) srsifeez 4 S § ¥ B T

76  Certain clay layers deposited at the end of the cretaceous period are enriched
in what element 7

(1) Aluminium (2) Carbon

(3) Indium (4) Uranium

RRRT e % ofq ¥ PR 35 gt TR Ree W § daife o
() eyt @) A

(3) TR @) TR

- OmzAl 20 . (WEAARNIiQ) teond...
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Which geologic period does not belong in the Mesozoic era ?

(1) Permian (2) Cretaceous
(3) Triassic (4) Jurassic

o W it Fed Aol T ¥ ddfe T 37
(1) w°ES @) e

(3) s @ i

Which of the following is the oldest period of time lasting from the
beginning of the earth to approximately 570 miilion years ago ?

(1) Precambrian (2) Pleistocene

(3) Miocene (4) Jurassic

P QT @ @ e i ot ¥ oS el U ¥ wed
T 570 TWWE a¥ % A7

(1) HfaaT g (2) ord I

(3) WA S @) s

Which of the following time periods include part of the geologic range
of dinosaurs 7

(1) Mississippian (2) Devonian
(3) Jurassic (4) none of the above

P ¥ @9 QO B SETRR & g8 il T ety B el
HE T?

(1) TfatadaT () IEFEA
(3) wuReE (4) SR ¥ § B @

On the Phanerozoic time scale, which of the following geologic periods
occurred approximately 65 to 136 million years ago ? Is it :

(1) Cambrian (2) Ordovician
(3) Carboniferous (4) Cretaceous

Foqelidy TETET % WHE WHA N, B A1 TG BeA 65 F 136 T W
qul # gan?

(1) wisE - (2) NSt
(3) HEATBE (4) Twestmm

OP12 Al 2 IR tConed.-..
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84

Which of the following is generally accepted as the time on the geologic
time scale for the emergence of land plants is ?

(1) Cretaceous (2) Triassic

(3) Permian (4) Silurian

e & & O W w9 e T e | aW Nl & wgRE @
g WAL T ¥ ?

(1) @i @ e

(3) wfre ) Regha

The coal deposits of the east India belongs to which of the following time
periods 7

(1) Jurassic and Cambrian (2) Eocene
(3) Phocene and Miocene (4) Permian
& 9IRa % wae e fre 7 8 few wwm % ¥0
(1) gufew qar Hsa (2) 3
(G) mEEE aar JEEN @) e

Of the following four geologic periods, which is the oldest ?

(1) Devonian (2) Silurian
(3) Permian 4) Jurassic
B i @ § wad WA Se-w ¥0

(1) el @ i
@) whmE @) gaEw

Of the following four geologic periods, which is the most recent 7
(1) Devonian (2) | Silurian
(3) Permian (4) Jurassic

P g gnfle wel ¥ ¥ we@ @ @i w ¥7

NOR-CUECE| ) faeiEs

(3) RS @ Tutes

OP12 Al 22 [BINIBINI) (Contd...
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The Miocene, Eocene and Paleocene epoches belong to what geologic
period on the Phanerozoic Time Scale ?

(1) Devonian (2) Permian

(3) Triassic (4) Tertiary

AREH, T da AWl g0 Syeldl TeeE W WG % fed
yila wew § wabua ¥7

(1) St (2 wiER

(3) wRk® 4) T

During which period, in the earth's history, did MOST dinosaurs become
extinct 7

(1) Carboniferous (2) Cretaceous

(3) Quaternary (4)y Trassic

gl % strer % Fhw wew ¥ oifteeie sEAER fagw @ g & 7
(1) SEFEE (2) wrefEd

(3) <gd wETH @ zafys

The extinction of the dinosaurs also marks the end of which geological
era ?

(1) Precambrian (2) Cambrian

(3) Mesozoic (4) Cenozoic

SEAER ®1 faga o few sife wewee @ ofd ot gviar 7
(1) FisE g werbe () i

(3) TEASIEl HETHTd (4) TESIEl TEERE
Rocks formed in layers are said to be :

(1) crystalline (2) stratified

(3) chemical (4) metamorphosed
ded F Tifg @ @1 wed ¥ ?

(1) Fremr @) wwha

(3) <HEE (4) <pEENE

Malani Igneous suite is mainly composed of .

(1) Lava flows of basalt (2) acidic volcanic rocks
(3) ultrabasic rocks - (4) granites

TR o geiy gega: few S & g7

(1) Iqw & WE W (2) o SEETgEE 9
(3) efvardim 9@ (4) IR

OP12_Al 23 (TN LConed-



90 Which is the lowest formation in Jurassic of Kutch ?

(1) Xatrol (2) Chari

(3) Umia (4) Patcham

T B F S A P 0 wE @ w2
(1) @ 2 =

G) sfm _ 4) vz

91  Which is the top most formation of Vindhayan Supergroup ?
(1) Rewa formation (2) Bhander formation
(3) Kaimur formation {4) Semri formation
e guyu &1 Suad W wWE wE-a §7
(1) e ey () w=RX dowgE
(3) IR fwwE @ T dTwTE

92  Which 1s the oldest rock group in Rajasthan ?
{1) Banded Gneissic Complex (2) Aravalh Supergroup

(3) Delhi Supergroup (4) Birmama formation
ORI H G99 GO S| 9SG |1 B e

(1) ¥ Tives s (2) SEA I
(3) Tl weMETE @ Toonten deaE

93 Term peninsula stands for :
(1) tectonically stable area
(2) area covered mostly by metamorphic and igneous rocks
(3) area surrounded by three sides by sea
(4) all of the above

a6 el ¥7?

(1) fredte ghe ¥ Rem & @

(2) VW &F W e wEEig 9d orey Wl ® ssied 3
G) TE AR S AN aw g ¥ Buow

(4) SuEd |

OP12 A} 24 (AW ROl tconed..
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97

Which is the most ancient mountain ranges in India ?

(1) Himalaya {2) Vindhyan
(3) Aravalli (4) Cuddapah
IR B O YN weEaen sF 8 g7

(1) feamem @) forem
(3) e (4) Fsra

Great boundary fault separates :

(1) Vindhyans from Pre Vindhyans
(2) Kurmnools from Cuddapahs

(3) Delhis from Aravalis

(4) None of the above

I IRel 4y el yus HEar ¥ 7
() FRiem & g e 8 (2) PO B FeSAO1 ¥
(3) Tl & el o (4) SWRiEd ¥ ¥ HF T

Main boundary fault separates :

(1) Upper Gondwana from Lower Gondwana
(2) Archeans from Delhis

(3) Siwalik from Lower Himalayas

(4) None of the above

qer el dy Reuswl gud HYar &7
(1) wud dsar & Faw Wsarn 9
(2) onfdEs @ fewell &

(3) Rafwe = e e @

() SRE ¥ T BE @

Bap boulder beds are found in :

(1) Himachal Pradesh (2) Uttar Pradesh
(3) Gujarat (4) Rajasthan
I 9N WET B U S 7

(1) Twma w1 (2) ST WaEl

(¢) Tsd (4) X&EEE

or2 A 25 ARG (Conte-.
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101

The general strike of Vindhayan mountain ranges is :

1) N-S (@) E-W
(3) NE-SW (4) NNE-SSW
o wime & e orges fam W ¥?
(1) N-S (2) E-W
(3) NE-SW | (4) NNE-SSW

The general strike of Aravalli mountain ranges is :

(1) N-S (2) EBE-W
(3) NE-SW (4) NNW-SSE
AR Il B MR oesl faam o ¥ 7
(1) N-S (2) E-W
(3) NE-SW (4) NNW-SSE

The internal structure of crystals was first studied with which of the
following ?

(1) x-rays (2) isotopes
(3) electron microscopes (4) lasers

e = ofale dxem ot wafes semes = 9 @ few ol & gem
IR g wm ar ?

(1) & (2) SEERY
(3) FoE el (4) wX

Give the term that describes different crystalline modifications of the same
chemical substance

(1) polymorphism (2) isomorphism
(3) tetrahedral (4) pervoskite

e & ume & Tl e w@edl @ ow®m owed 30
(1) wg&um (2) waEud

(3) mEw 4 UEpEE

OP12 Al 26 (IRAIENID tContd...
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Most natural minerals can be found in which two crystal systems ?
(1) Cubic and triclinic

(2) Orthorhombic and monoclinic

(3) Hexagonal and tetragonal

(4) Monoclinic and triclinic

valte Wk afet B @ Beea wgerl & o/ @ ¥7
(1) w7 w o |

(2) Tao e Ud UHTaE

() Wi ud fammeas

(4) ThTEeE wd BEaE

Characteristic property of a crystal is :

(1) Presence of faces around it

(2) Transparency

(3) Presence of cleavages

(4) Ordered atomic/molecular arrangement

frew &1 ofwate qued &7

(1) SH& IRl S ®Ew B

(2) wRaEyEn

(3) Trem @ suRafa

(@) Ty [ opel w1 it wH W Bl

Flat surface found around a crystal is called

(1) cleavage (2) joint

(3) face (4) plane

free % TRl ok P 9wl gue wael @ wed & 7
(1) e @ df

(3) @9 4) wub

How many horizontal crystallographic axes are there in hexagonal system?

1) 6 2 3
3) 4 @ 2
T e W feem Rufiei feedim o B9 ®7
(1) 6 @ 3
3y 4 @ 2

OP12 Al ' S IARMRIENGY (Contd...



106 In to how many systems the crystals have been divided ?

1) 6 2) 9
3G) 5 @ 12
frwet B Poed wgEEl ¥ wie ¥

(1) o @ 9
G) 5 @ 12

107 In Monoclinic system of crystals, the angle between which of the two axes

is not 90° ?

(1) aand ¢ (2) aand b

(3) bandc (4) None of the above

T Bredi wyer ¥ Re &) otel % wew @ wor 900 W B ¥ P
(1) adul ¢ (2) aauw b

G) b am c (4) SRE By T

108 In triclinic system of crystals, the angle between which of the two axes

is 90° 7

(1) aandc (2) aand b

(3) band c - (4) None of the above

Rriae Rred e ¥ Rt @ o & weT w1 w900 B ¥ 7
(1) adam c (2) adal b

(3) b ¢ (4) SR DY A

109 Euhedral crystals have
(1) Fractures inside the crystals (2) Well developed faces

(3) Rounded corners (4) Poorly developed faces
quiwes e § g ¥

(1) Tres ¥ 9 ) 9 feim ws

(3) TiwH @) eredfawfya weaw

OP12_A] 28 (MK (Contd...



110 What is the basis of dividing the crystal system in to classes ?
(1) Difference in the size of crystals
(2) Difference in symmetry elements present in crystals
(3) Presence or absence of cleavages
(4) None of the above

fra el ® ol ¥ foofe s @ emER W ¥?
(1) Fewedl & R A o

(2) Tpewl % TEbRT G W S

() frem @1 gF ar T osE

(4) TR N ¥ B T

111 The size of crystals in cryptocrystalline material is

(1) very large (2) medium

(3) microscopic (4) small
Toibtel sl ¥ frew & a@R g[r §7

(1) oIl fasme SresY (2) T=H B
() s st 4) Y SR

112 In which of the following crystal systems, two of the crystallographic axes
are of same length ?

(1) cubic system (2) orthorhombic system

(3) tetragonal system (4) monoclinic system

Pt ¥ & Rovr @ Rowe el § @ Bhew o @ WAl ¥ O ¥2
(1) = e @) Tawmciwg e

(3) o wgeE (4) U A

113 Gypsum type symmetry class belongs to which ‘crystal system ?

(1) monoclinic system (2) orthochombic system
(3) tetragonal system {(4) cubic system
R TER A Gty ot Pea e G9EE @ ¥

(1) THINE T ) fowrdea weE
(3) Tewiwma e @ = W

OP12_A] 29 ARLIRIIEN]) Coned...
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114 Calcite type symmetry class belongs to which crystal system ?

(1) monoclinic system (2) orthohombic system
(3) hexagonal system (4) cubic system
HEEE WHX Bl wHmy ot Rew feew wgam @ ¥7

(1) THTa 9980 (2) TawdEw SR
¢) wemn W @) o wgEH

115 Crystals of pyrite and tetrahedrite belong to which crystal system ?

(1) monoclinic system (2) orthohombic system
(3) hexagonal system (4) cubic system
TEEE O EneRe fhe frwa wEE & %7

(1) UHKE WEE 2 Trwiew wREr
(3) wema W @) o ageE

116 Which type of symmetry axis is not found in crystals ?

(1) 2 fold (2) 3 fold
() 5 fold 4) 6 fold
frem ¥ e yeR o7 g A& urh W ¥ ?
(1) 2 ks (2) 3w
(3) 5 wE 4) 6 B

117 Interpenetration type of twinning is found in crystals of

(1) pyrite (2) muscovite
(3) quartz (4) tourmaline
SrderT WBR F1 AT Pea feww N wm o 37
(1) UElE (2) wEBIERS
() = @) T
orr2 4| 3 I (o

E
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Contact goniometer is used to determine the

(1) number of symmetry planes in the crystal

(2) type of symmetry axis in the crystal

(3) angle between two adjacent faces of the crystal

(4) ratio of lengths of various crystallographic axes in the crystal

GamHoAd ¥ T S AT S § 7

(1) @At e & e

(2) THMR JE@ & TEK

(3) A T G F AL B BT

(4) Towed & R ol & SamAl w1 g

Which mineral is the most dense ?

(1) hematite (2) cinnabar

(3) marcasite (4) rhodochrosite
B A WS g e §7

(1) Tevere @) R

(3) whuTEE @) ASwEEe

Which of the following minerals is a source of lead ?

(1) Bauxite (2) Hematite
(3) Malachite (4) Galena
[ A i e A |

(1) FHEEz @) fereRe
(3) TR @ e

Which of the following is the mineral name for ordinary salt ?

(1) biotite : (2) calcite

(3) halite (4) dolomite
ke B O 11 i o A W S L B o
(1) wrEEe () R

(3) @I (4) SR

orRz AL - 31 [T (Coned...



122 Which of the following reasons explains why quartz cannot be identified
by its colour alone ? '

(1) s colour is too faint

(2) It has no colour

(3) It exists in a variety of colours
(4) Its colour fades

weS B Rk T & oNegR X T UEAN W §HY B BRO ¢ W §
T E?

(1) ofy 92 1 g

@ T AT E

(3) Tm @ Tt

@) 1w yfm s W

123 The nickname, "Fool's Gold" refers to which of the following ?

(1) calcite (2) apatite
(3) fluorite (4) pyrite
fra wfe & g @ = sgem @ f @ s 7
(1) e ) ez
(3) TARE (4) TR

124 Which of the following is the chemical formula for calcite ?

(1) CaCO, @) CaMgSO,
@) FeCO, @4) Fes,
Fra o ¥ Peume & TOEEE gF R $7

(1) CaCO; @) CaMgSO,
3) FeCO, @) Tes,

125 Diamond and graphit_e are polymorphs of which of the following elements?

(1) magnesium (2) carbon
(3) sulfur (4) nitrogen
A qun deEe fhg o F 9gE9 7

(1) =i (2) wrE=
(B) WY @ EgeH

OP12 Al 32 [INIKNEOERAD (Contd...
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Which of the following pairs of minerals are difficult to tell apart because
both are always dark in colour and almost equally hard ?

(1) muscovite and orthoclase (2) muscovite and quartz

(3) hornblende and talc (4) homnblende and augite

e wfer gl o @ e @1 sale smarl 9 o T8 R ST wehd
¥ s A @ 1 WA AW R qE T A BSRAT WIHT WA
R ¥

(1) T=REREe qar sgreaRs (2) TEBERES T FCH

(3) s qU IeH @) =S q@ eimge
Polysynthetic twinning is found in

(1) orthoclase (2) muscovite

(3) augite (4) plagioclase feldspar
TgUye The fead arn S g7

(1) e (2) HrDEES

(3) sirmge (4) wifTaTRRIST HheeeI
Fluorite is at what number on Moh's hardness scale ?

1 1 2 2

(3) 3 4 4

TRIgE AIE & boral Husd ¥ R WM W ¥7?

1 1 2) 2

G 3 @ 4

Which one of the following minerals does NOT contain silica tetrahedrons?

(1) quartz (2) muscovite

(3) halite (4) orthoclase

P wirell & ¥ frad Riven wqured T W 27

(1) eamest Q) TEHEEE

(3) Tume @) st

Which of the following minerals is noted for its one perfect cleavage 7
(1) calcite (2) muscovite

(3) quartz (4) pyrite

Prer A @ @ w whe ofiget freww % fag s osman @7
() e (2) TR

(3) @) TR

OP12 Al 33 [INIANIRAY (Contd..



131 Which of the following minerals is NOT a silicate ?

(1) orthoclase (2) muscovite
(3) augite (4) magnetite
e 'l § ¥ 3 @ ow Rafwse 7= 0
(1) Nyl (2) AEHERE
(3) eofrmge @ AR
132 The mineral halite is :
(1) potassium chloride (2) sodium chloride
(3) calcium chloride {4) calcium bromide
wEe afer = %7
(1) URREw wREs (2) TRTH FRES
(3) oo wRES (4) whwaq FHEsS

133 Agate is a form of what mineral ?

(1) magnetite (2) feldspar
(3) quartz (4) copper
o feu whe & ' ¥7

(1) e ) H=ER
(¢) wEES (4 Wi

134 Which of the following minerals is composed of carbon ?

(1) Calcite (2) Baryte
(3) Diamond (4) Gypsum
Pt @fet & ¥ B9 ®ET ® T e %7

(1) RS Q) I
(3) = 4 Taa=

135 Which of the following mineral is isotropic 7

(1) Quartz (2) Beryl

(3) Tourmaline (4) Garnet
fr wfel § ¥ oW i dar 372

() s @)" I

(3) A @ e

. OP12_4] 34 [IVEUIRIMTR0Y 1ond...



136 The mineral generally used for construction of Nicol Prism is :

(1) Dolomite (2) Calcite
(3) Baryte (4) Hornblende
fem fow amma: e @hw @ s s §7
(1) Sz (2) s
(¢) e (4) Fr=ITS
137 How many Nicol prisms are fitted in a petrological microscope ?
1 2 @ 4
G) 1 _ @ 3
ua Sadste gl # fea Frew fow @ s §7
1 2 (2) 4
3 1 4 3

138 Which of the following minerals does not show pleochroism ?

(1) Biotite {2) Glaucophane
(3) Hornblende (4) Quartz
P ¥ ¥ BN W wRw agaviar wd R 27
(1) wEEREe (2) IeSHET
(3) Fri=vs @) s
139 How many carbonate minerals are in Moh's Scale of Hardness ?
I 2 2 1
Gy 4 @ 3
g & worar AwEd H Reaw @l wEEe ¥ 7
(1) 2 @ 1
B) 4 @ 3

140 The fundamental unit in building of silicate minerals is

(1) Sio, (2) SiO
() Si0, @ sio,
fofwbe @il & Tod @ @ THE W 37
(1) Sio, 2) Sio
(3) SiO, @) Sio,

OPi2 Al - - 3 |IVAERMIRLAIN) LContd...
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Which mineral has been assigned hardness of 7 in Moh's cale of hardness?

(1) Quarniz ' (2) Topaz

(3) Feldspar (&) Apatite
ME b BoRal AeH A few @h™ & weanr 7 ¥R ¥ °
(1) g @)

(3) TR (4) e
The Si: O ratio in neosilicate minerals is

1 1:2 2y 1:3

B) 1:4 @ 1:1
Heitfifre wfet & Si: 0 &1 sFum F BT ¥7?
@ 1:2 @ 1:3

G) 1:4 @ 1:1

The lustre of quartz mineral is

(1) Pearly (2) Silky

(3) Greasy (4) Vitreous
TS WhTT @ THE HE Bl &7

(1) ke (2) e

(3) sl 4) wrEH

Calcite is characterized by which of the following shape ?

{I) cubic (2) fibrous

(3) prismatic (4) Rhombic
Foage @ fwldg oeR W ¥ 7

(1) T (2) WRR

(3) Pr=ia (CYRIRCL B E |

Which of the following minerals does not have cleavages 7

{1) kyanite (2) olivine
(3) feldspar (4) quartz

frer § ¥ frg whe & feew T 3@ 27

(1) ®ETEE (@) ot
3) FEr @) S

OP12_A} | 36 GGG (coned...



146 Which of the following minerals is not calcrum rich ?

(1) calcite ' (2) baryte
(3) dolomite (4) aragonite
fer & & fpw wber F Hferaw & sgear T e ¥ 2
(1) heErge () I
(3) SmrEE @) TR
147 Which of the following minerals is not composed of Al,SiO5 ?
(1) andalusite (2) sillimanite
(3) kyanite (4) Siderite
ft ¥ @ &F W wbe ALSIO; w1 T T wal 37
(1) uSTgEEe ) Rafwrmge
(3) @R @ Tz
148 Which of the following mineral is representative of cyclosilicate structure?
(1) quartz (2) olivine
(3) beryl (4) feldspar
e ¥ @ oW @ uhe anTiiieee g B Felm s@r §7
1) @) ot
(3) I= (4) W
149 Which of the following minerals is NOT a silicate 7
(1) orthoclase (2) muscovite
(3) augite (4) magnetite
= ¥ 9 om W whe s @ 87
(1) ofyasT (2) TEREEE
(3) ofrmge (@ wge
150 The principal mineral in most sand beachés is
(1) quartz (2) orthoclase
(3) magnetite (4) muscovite
o gRE W ger Wt B W e §7
(1) @@ (2) oISt
(3) "M (4) vREBITEE
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Which of the following is the most important erosion and transportation
agent ?

(1) wind (2) water

(3) glaciers (4) none of the above
P & ¥ oiew 9 uiEed @1 99d Wgw ee G ¥ 7
(1) =g 2) ww

3¢ e 4 IRE A § BE

Of the following minerals, the one most resistant to both chemical and
mechanical weathering is :

(1) calcite {(2) muscovite
(3) hornblende (4) quartz

= W 9 B W glier TaEte aur gibee SueEeT o gaitie Wi
E?

(1) HeaEe (2) wBIAES

(3) s 4) FaEs

When shale weathers, 1t forms mostly :

(1) clay {2) quartz

(3) soluble carbonates (4) slate

N % NUEET F TEEAE: T I e 7

(1) e @2) FaRs

(3) gaNw ®HEME @ w=

The principal volcanic gas (in terms of quantity) is :

(1) carbon dioxide (2) nitrogen dioxide
(3) sulfur dioxide (4) steam (H,0)

oA @ ygEal & e i e SwrE W oeF §@ '
(1) HET SEIAEEES Q) TEINT SRS
(3) UEHY SHATTES (4 v« 9™ (H,0)

Most cave deposits form from which of the following minerals ?

(1) hematite (2) calcite

(3) quartz (4) none of the above
sftmris e fiew frer Wt § Y Peed a BW ¥7

(1) ¥rewme 2 ¥Frme

(3) TS @) IWE " ¥ WY T

OP12_Al 38 [N (Coned.



156 The most common mineral found in igneous rock is :

(1) feldspar (2) olivine
(3) muscovite (4) fluorite
it o B I B i e e e &
(1) WHesw () e
(3) WRBIEE 4) wEE
157 The metamorphic rock which forms from pure limestone is :
(1) slate (2) gneiss
(3) schist (4) marble
JT T ¥ TN FEENA W §7
(1) wk @ Ta
3) fi= (@) G

158 Which coal is considered a metamorphic rock ?

(1} anthracite coal (2) bituminous coal
(3) ligmte coal (4) all of these
fre aret @ Fria 9w e 37

(1) TAEEZ B 2 Tehira sam
(3) Tz s (4) SWEw af

159 An igneous rock which is commonly black, has a glassy texture, and -has
a conchoidal fracture is which of the following ?

(1) pelite (2) rhyolite

(3) obsidian (4) none of the above

WHI: B T, HEW Ted @ stEy fpdr awlt e S e o
G T

() T (2) EEEEL
(3) eisdiRad (@) SudEd § ¥ wE A
160 TIn geological studies, a breccia contains -particle that have following
shape 7
(1) rounded (2) angular
(3) square (4) spheroidal
i sremaeil N, UH GBHTH b HO ki B hEl BN § 7
(1) 2) @®iY "
(3) TR (4) Ty

OP12 AT - ¥ [ETHINEY 1Contd.



161 Which of the following is the most important chemically-active fluid
involved in the formation of rocks ? “

(1) hydrochloric acid (2) sulfuric acid

(3) water (4) methane

Sl % Seva N U9 Teql (WEt WY ¥ ufew v e A @
B g ¥?

(1) TFESERG o (2) qEiE o
(3) @) #e=
162 A type of volcano composed of mainly pyroclastics is termed :
(1) cinder cone (2) shield cone
{3) composite cone (4) none of these
Terd: WSyl ¥ 9 Saagdl Bl F®T Bed 6 7
() Rt o7 @) T A
(3) T oiw (@) SR ¥ ¥ B W&

163 The saltation of sand grains refers to the sand grains :
(1) being coated with salt
(2) moving in jumps and bounces
(3) moving in a steady stream
(4) being cemented together
I FON F owET o -aad 3 e
(1) SR B9 X @@9 B qG S
(2) 9 @ BRI W TG ISW 9§ T B
(3) I/ FN & Ry " ¥ UREW
(4) 9w HU b1 o9 H WhiE B

164 Give the general term used to designate the sand, silt, and mud deposited
by a stream, along its bank or upon its floodplain, during periods of high

water, .
(1) Alluvium (2) Flood-loan
(3) Dump moraine (4) Dune deposit

JoaqH TR $ UHT UH 9T BRI Sk T STUdal HuR X MEd 9,
ME T Ub B BFE GE AW ST ST 7

(1) wees (2) wHBA e
(3) uf=Eu T3 (@) = fgm

OP12_Al 40 [RHIEH LConed...



165 Which of the following pairs contains one igneous and one sedimentary

166

167

168

169

rock ?

(1) shale and marble (2) sandstone and quartzite
(3) granite and limestone (4) obsidian and gneiss
e & 4 g g Y @ o @ & oEEEl 9§ 7

(1) 9« T e (2) wIGH AU FESEE
(3) WET TE g @ o=z awm i
Which of these pairs of minerals are always found in granites ?
(1) muscovite and calcite (2) quartz and orthoclase
(3) hornblende and talc (4) augite and magnetite

e & 4 89 W e 3w MR ¥ 39 TR S &7
(1) AERERET q9T HeaRe (2) TS aun SniEst
(3) TH=S qAT T (4) ofmge aur TR

An example of a rock whose minerals have been crushed into thin sheets
or bands is :

(1) shale (2) schist

(3) conglomerate (4) granite

i o, R i siie Tey s v % w9 ¥ U 8 T, @
ECCEUIES

(1) 9 @ fr

(3) ugfeweA @) R

The hydrolysis of orthoclase results in the formation of :
(1) shale (2) kaolin

(3) lime (4) hydrochloric acid
sNdlaeeT & o SEed § W g §7

1) 9 () el

@3) T (4) TESEIG T
Which of the following is an tgneous rock ?

(1) Granite {2) Shale

(3) Coal (4) Slate

et A omg 9@ B | B

() g (2) 9

(3) i 4 we

OF1L2 A} “ IR KConts.-



170 Which of the following is a metamorphic rock ?

(1) sandstone (2) granite
3) quartz (4) marble
P A ¥ aEEia S B @ FP

(1) =g (2) TEe
() T @) TR

171 All of the following are examples of chemically precipitated sedimentary
rock except

(1) gypsum (2) limestone

- (3) sandstone (4) dolomite

fre ol Tewts R 4 emdln eaedl dw ¥ Rem

(1) Fm & (2) IMNH &

(3) agHET F (4) SHMES &
172 Igneous rocks that form from magma are known as :

(1) minerals (2) granite

(3) intrusive rocks (4) gneiss

o W oA e el B R wEd 87

(1) @b | (2) ¥

(3) oidaer 9w @) =

173 Of the following, the rock that is most resistant to both chemical and
mechanical weathering is :

(1) shale (2) limestone

(3) marble (4) quartzite

e F Y B W S Tt g Tites osEer w1 watte SR
37?

1) 9= (2) T

() T @) TSR
174 A rock coniposed for cemented sand and gravel is :

(1) shale (2) conglomerate

(3) granite (4) marble

diife gu 9 wd 9w § 0 8@ @ bed ¥7

(1) 9@ (2) wiiewnd

(3) W @) TR

OP12.Al 2 (MR tContd...



175 When clay hardens into rock, it forms :

176

177

178

179

(1) coal (2) limestone
(3) shale (4) quartzite
SR ¥ FEEe B A @ oW w3
(1) e (2) T
(3) o 4) wEESTEe

What is the name of the white clay which has been used for thousands
of years in the fabrication of ceramic bodies ?

(1) Talc _ (2) Kaolin

(3) Feldspar (4) Quartz

oG whe gt & w AW ¥ g sw s adt & 9 fred @
Tgd T ¥ ®em W @ &7

(1) == (2) HAWE

(3) W (@) s

Hematite is a primary ore of which of the following metals 7
(1) zinc (2) tungsten

(3) iron (4) none of the above
¥R e oI &1 UNE o &7

(1) sm=m (2) TwT

(3) e @ s ¥ ¥ wE T
Galena is a primary ore of which of the following metals 7
(1} zinc (2) tungsten

(3) lead (4) silver

o T uig &1 THE s §7

(1) <=0 ' (2) TTEd

(3) @) =«

Sphalerite is a primary ore of which of the following metals ?
(1) zinc (2) tin

(3) copper (4) iron

hege fpo g @1 ugE s ¥7

1) N (@) fe

(3) am @

OF12_ Al - 8 ~ HRGAEARINY tConea.



180 Which of the following minerals is a source of copper ?

(1) Bauxite (2) Hematite
(3) Malachite (4) Galena
e A W BN W wtw AW g W e § 7
(1) e @ TR
(3) WriEsE @)

181 The chemical union of iron, oxygen and water forms
(1) magnetite (2) hematite
(3) limonite (4) pyrite
wE, SNfeds ud o & arbie g ¥ = Pl war 30
(1) #eRe @) wewE
() fmEEe | (@) UEIEE

182 The oxide of which metal forms corundum, rubies and sapphires ?
(1} Aluminium (2) Calcium
(3) Beryllium (4) Potassium
BIEH, AR A Aen Fe aig & SiEs §7
(1) gt () v
@3y fdwgs (4 et

© 183 Which of the following is the only element which is "mined" from the

sea 7
(1} copper (2) magnesium
(3) uranium (4) zinc
Frg § @ a8 ardell urg @ @ ¥ Rees @ e wgg ® feen s #7
(1) 9= (2) Aftaftras
@) g (4 W

184 Which of the following elements is found in the earth's crust as both a
native element and as a compound ?

(1) argon (2) copper

(3) chlorine (4) silicon

e & & o @ @ gelt @ T § Wi d@ 9 A 36 w9 H
R S § 7

(1) = (2) qH™

(3) A (4) Tofeesm
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Coal is believed to have been principally formed in which of the following
types of environment ? '

(1) river beds (2) swamps

(3) volcanic regions {4) deserts

SR TgE ' ¥ Fre ¥ 4 fhe yeR ¥ walee # s w7
1) & W @ oW

() vaEMMEE &= @) P

A geologic feature called a kimberlite indicates the possibility of the
presence of which of the following ?

{1) rubies (2) diamonds

(3) sapphires (4) opals

fratge e e wew P ¥ ¥ Reud S @t @WET Ssiar 7
() &0 @ &

(3) wWHEX (4) &g

Where the oldest and deepest gold mine in India is located ?
(1) Kolar (2) Khetri

(3} Zawar (4) Rampura-Agucha
YRd B T I O Rl @ @eW &E 87

(1) wER (2) w

(3) R 4 IO - AT
Filament of the electrical bulbs are made from

(1) Zinc (2) Copper

(3) Tungsten (4) Iron

foga sve & oy feww @ S ¥ 7

(1) <& (2) ™

(3) <A @) W

Sanchor basin is situated at

(1) ﬁombay (Mumbai) (2) Tamilnadu

(3) Rajasthan (4) Assam

Tra At wel fem 32

1) W (G (2) ufherg

(3) TN (4) oEH
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193

1%4

195

By which process the placer deposits are formed ?
(1) Metamorphism (2) Sublimation
(3) Mechanical concentration (4) Sedimentation
way Féw fee wlear @ s@ ¥7?

(1) I (2) THEYA
(3) gibm H@agH (4) SrEaREl
Which of the following is a fertilizer mineral ?

(1) Gypsum (2) Copper

(3) Diamond (4) Feldspar
e & 9 vl wfe o @ §7?

(1) Feas @) wm

() @ (4) HEwWr
Which of the following is a Gemstone ?

(1) Diamond (2) Emerald
(3) Ruby 4) All

fr A & @ aF 7

(1 & (2) wm

(3) wftrr 4y &
Chalcopyrite is an ore of

(1) Iron (2) Copper

3) Gold (4) Aluminium
TehriREe fhaer srawn ¥ 7

(1) <% (2) @™

@) @ (4) gt
The Zawar is famous for which deposit ?

(1) Lead and Zinc (2) Copper
(3) Gold (4) Platinum
wax fpash wveR % fow uReg # P

() &1 @ SR (2) <m

(3) @ (4) wifem
The Jhamarkotra is known for the deposits of

(1) Rock phosphate (2) Granite
(3) Marble (4) Sandstone
s Reak e ¥ fng wReE B

(1) < R (2 TwE

(3) WREY (4) WIgHITH
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ornAl 4 IR (Conta-

Which is the hardest mineral on earth 7

(1) Graphite (2) Corundum

(3) Diamond (4) Muscovite

el UX T @hEH § 999 HOR @i &7

(1) Fwise 2) A

@) BT (4) WRERTARE

Where in Rajasthan deposits of copper are found ?

(1) Rampura-Agucha (2) Khetri

(3) Barmer (4) Degana

U™ ¥ I F WUSK HE TR W ¥ 7

(1) WY — A () @S

(3) e @ s

Which of the following is not an ore of Copper ?

(1) Hematite (2) Chalcopyrite

(3) Cuprite (4) Malachite

Pt % 4 B9 99 H oG TE § 7

(1) e (2) ITHUBIEE

() e @ R

Where the supergene sulphide enrichment zone is found ?
(1) Above the water table (2) Below the water table
(3) Near the ground surface (4) In oxidizing zone
THENA GeHES BT G9hkg AUSH HE1 UK SR e °

(1) 99 9@ § B (2) W SEwE ¥ A
(@) 9 & gdaw F U™ (4) ol W o

Which is the correct statement about graphite ?7

(1) It is formed by sedimentary process

(2) Tt has good conductivity of heat and electricity
(3) It is used in cement industry

(4) All the above

ThEZ & g ad s @9 W %7

(1) 9 oraerld wiem ¥ svar ®

(2) =& AW gar fga @ o duwe 3
(3) ue e A H BM AW ¥

4) S @l
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